BCM SCHOOL BASANT AVENUE DUGRI ,LUDHIANA
Class-IV

Analytical Reasoning Assignment -2

MATHEMATICS

1. Among the following items, cost of which item is Eight thousandseventy-
nine rupees?
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2. According to the given place value chart, tell the correct expanded form of the
given value

Thousand Ones
Ten Thousand Thousand Hundred Tens Ones
4 0 8 4
a) 4000 + 800 + 4 b) 40 + 80 + 4
c) 4000 +80 + 4 d) 400 + 80 + 4

3.Rajinder has 120 apples. He has to place equal apples in the given plates. How
many apples will he place in each plate that not even a single apple is left with him?
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a) 10 apples b) 5 apples c) 6 apples d) 7 apples




4. A truck <® has 16 wheels and a &3 has 6 wheels. Howmany total wheels will be there of

similar 4 <M and 6 &=?

a)8 b) 90 c) 100 d) 70
5.There were 5 ducks in a pond, from which 4 ducks came out of the pond. What fraction of

ducks is remaining in the pond?

a) g b) § c) g d)

6. According to the given grid, which statement is incorrect ?

a) The decimal form of coloured part of grid is 0.43.

b) The fractional form of coloured part of grid is 43/100 .

c) The decimal form of uncoloured part of grid is 0.57.

d) The fractional form of uncoloured part of grid is 43/100

7.0n opening the box, which net will be formed ?
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8. In the given picture, the price of per kilogram tomato and potato is given.
According to it find the total price of Zikg tomato and1l %kg potato.

Tomato Potato

18 perKg 313 per Kg
a)% 92.00 b) % 64.50 c) ¥ 59.50 d) ¥ 54.50




9. There is 27 liter petrol in a car tank. 15 liters of petrol was

added tocompletely fill the tank. What is the capacity of the car tank ?

a) 52 liter b) 42 liter c) 12 liter d) 15 liter
10. Look carefully and choose the correct answer:
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a) Less than 1 liter b) between 1 liter and 1 liter
500
c) 2-liter d) more than 2 liter
SCIENCE
1.Bridges are built over
a) River b) Rallway lines
c) Canals d) All

2.Name an animal whose ears cannot be seen.
a) Cat b) Dog
c) Snake d) Rabbit

3.Who is the leader of elephant herd?
a) Oldest male b) Oldest female
c) Young female d) Young male

4 .In which month does the Litchee trees bloom?

a)January  b) February
c) March d) December



5.What is the capital of Goa?
a) Panaji b) Mumbai
c) Chennai d) Bhopal

6.Which food items are eaten in south India?
a)ldli b)Dosa
c)Vada d)All

7.How many players are there in Kabaadi team?
a)7 b)8
c)9 d)10

8.Which is the longest river of India?
a) Ganga b) Yamuna
c) Godavari d) Narmada

9.The women is working on

a)loom

b) charkha

c) sewing machine

d) all above

10. What kind of people use this chair?
a) Disabled

b) Athletes

c)both

d) none

ENGLISH

Habits are second nature and are called correct. A person’s nature is the sum total of
habits. If a person develops good habits, he develops good character. If he develops
bad habits, his nature becomes bad. So he should try to develop good habits. Good
habits make a man much better. They make him healthy, wealthy and wise.

Some good habits are waking up early, personal hygiene, abstinence from alcohol and
telling the truth. Waking up early is very beneficial for people. Keeping clean is a good
habit. It keeps a person free from diseases and contributes to his health.



1. What are habits considered to be?
a) Second nature
b) First Nature
c) Atrtificial
d) Unimportant

2. How do habits affect a person’s character?
a) Good habits lead to good character, bad habits lead to bad character
b) Habits have no effect on the character
¢) Bad habits lead to good character, good habits lead to bad character
d) Habits are not related to the character

3. What are some examples of good habits?
a) Waking up early, personal hygiene, abstinence from alcohol, telling the truth
b) Staying up late, neglecting personal hygiene, excessive alcohol consumption,
lying
c¢) Procrastination, disorganization, laziness, rudeness
d) Sleep in, eat junk food, smoke, watch too much TV

4. How does waking up early benefit a person?
a) It gives them a head start on the day
b) It makes them tired
c) It has no effect
d) It makes them less productive

5. How does personal hygiene contribute to a person’s health?
a) It keeps them free from diseases
b) It makes themill
c) It has no effect
d) It makes them dirty
6. Complete the sentence:
A person’s nature is
Pick out antonym of ‘lie’
Write positive and superlative degree of ‘better’
. Write the kind of tense:

If a person develops good habits, he develops good character.
10. Pick out three adjectives from the passage.
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